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Name: ________________________________________________  Date:___________________ 
 

Review Worksheet 
Version A – Part 1 

 
1.  (a) 634  +  277 =     (b)  4709  -  385 = 
 
 
 
 
 (c) 893  ×  8 =     (d) 420  ÷  5 = 
 
 
 
 
 
 
2.  Identify the place value of the underlined digit. 
 
 (a)  872.64 _________________________________________________________________ 
 
 (b)  72.84 _________________________________________________________________ 
 
 (c)  26,487 _________________________________________________________________ 
 
 (d)  2,648 _________________________________________________________________ 
 
 
3.  (a) Write the number 541 in words.  _____________________________________________ 
 
 ______________________________________________________________________________ 
 

 (b) Write the fraction 
2

5
 in words.  __________________________________________________ 

 
 (c) Write the decimal 0.09 in words.  ________________________________________________ 
 
 (d) Write the number “seventeen thousand eight hundred three” in figures. 
 
 ______________________________________________________________________________ 
 
 
4.  (a) Round 9,452.76 to one decimal place. _____________________________________________ 
 
 (b) Round 9,452.76 to the nearest whole number. _____________________________________ 
 
 (c) Round 9,452.76 to the nearest thousand. __________________________________________ 
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5.  Complete the sequence:  (a) 6, 13, 20, 27, _____________, ______________ 
 
      (b) 123, 119, 115, 111, _____________, ______________ 
 
6.  (a)  Find the product of 65 and 5.  (b) Find the quotient of 65 and 5. 
 
 
 
 
 
 
7.  Change 2p.m. to the 24 hour clock. 
 
 
8.  The temperature was -4°C yesterday. It is 4° colder today. What is the temperature today? 
 
 
9.  Calculate 6 + 7 × 4 - 2 × 3 
 
 
 
 
 
 
10.  Fill in the blanks using a comparison sign.  (< , > or =) 
 

(a)  6,392  6,932   (b) 10 + 3  20 – 7 
 
 

 (c)    3.45  5.43   (d)      
1

2
      

1

4
  

 
11.  Find the value of the following: 
 (a) 9.42 + 3.51 =     (b)  6.2 – 3.74 = 
 
 
 
 
 
 
12.  Simplify. 
 (a) 3m + 4m + 2m + 2m    (b) 7c + 6 – 4c – 2 


